SPH 3UI Chapter 2 Supplementary Questions
1.  Determine the net force if the following 3 forces are applied:  120 N [down], 180 N [backward], and 250 N [forward 30o up].

2.  In a children’s game, 4 children each pull on a separate rope tied to a 15.0 kg toy.  Adam pulls with a force of 20 N [E], Bonnie pulls with a force of 35 N [S], Carl pulls with a force of 50 N [N 40o W] and Diane pulls with a force of 15 N [W 10o S].  Determine the net force and the acceleration of the toy.

3.  A 1200 kg car travelling 90 km/h [forward] must stop in a distance of 15 m.  What force must be exerted by the ground on the car in order for it to stop in time?
4.  a) Brian (22 kg) is standing motionless on a frictionless surface holding Stewie (12 kg).  He applies a force on Stewie in order to throw him with a velocity of 3.8 m/s [E].  If the throwing motion takes 0.75 s, what velocity does Brian have after he throws Stewie?
b)  Show that the time given in a) is irrelevant.

5.  A mover wants to push a box down a hall.  The mover applies an ‘action’ force on the box (the push).  According to Newton’s 3rd law, there is a ‘reaction’ force applied in the opposite direction.  The larger the action force applied by the mover, the larger the reaction force will be. How is it possible, then, for the box to move (be accelerated)?

6.  You are standing at the edge of a frozen pond where friction is negligible, and the ice is infinitely hard.  In the centre of the ice (many metres away) is a blue circle 0.6 m in radius.  A prize of 100 billion dollars (mwa ha ha!) will be offered if you can apply all three of Newton’s laws of motion to get to the blue circle and stop there.  Describe what you would do to win the prize, referring directly to which law you are using. 
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